

Name: _____

ID number: _____

1.) (3pts) What are the indicial roots at the singular point $x = 0$ of the DE

$$x^2 y'' + 3x \cos xy' + \sin xy = 0,$$

knowing that $\cos x = 1 - \frac{1}{2}x^2 + \dots$ and $\sin x = x - \frac{1}{6}x^3 + \dots$?

2.) (7pts) Find c_1, c_2 and c_3 of the solution $y = \sum_{n=0}^{\infty} c_n x^{n+\frac{3}{2}}$ to the DE

$$x^2 y'' + xy' - \frac{9}{4}(x+1)y = 0.$$

1.) The normal form of the DE is $y'' + \frac{3}{2} \cos x y' + \frac{\sin x}{x^2} y = 0$.

let $p(x) = x \left(\frac{3}{2} \cos x \right) = 3 \cos x$
 $p(x) = 3 - \frac{3}{2}x^2 + \dots \Rightarrow a_0 = 3$
 $q(x) = x^2 \left(\frac{\sin x}{x^2} \right) = \sin x$
 $= x - \frac{x^3}{6} + \dots \Rightarrow b_0 = 0$

The indicial equation at $x=0$ is $r(r-1) + a_0 r + b_0 = 0$
 $\Rightarrow r(r-1) + 3r = 0$
 $r(r+2) = 0$
 $r=0, r=-2$

2.) $y = \sum_{n=0}^{\infty} c_n x^{n+\frac{3}{2}}$
 $y' = \sum_{n=0}^{\infty} c_n (n+\frac{3}{2}) x^{n+\frac{1}{2}}$
 $y'' = \sum_{n=0}^{\infty} c_n (n+\frac{3}{2})(n+\frac{1}{2}) x^{n-\frac{1}{2}}$

We substitute into the DE, we find

$$\sum_{n=0}^{\infty} c_n (n+\frac{3}{2})(n+\frac{1}{2}) x^{n+\frac{3}{2}} + \sum_{n=0}^{\infty} c_n (n+\frac{3}{2}) x^{n+\frac{1}{2}} - \frac{9}{4} \sum_{n=0}^{\infty} c_n x^{n+\frac{3}{2}} = 0$$

$$\sum_{n=0}^{\infty} c_n n(n+3) x^{n+\frac{3}{2}} - \frac{9}{4} \sum_{n=0}^{\infty} c_{n+1} x^{n+\frac{3}{2}} = 0$$

$$\sum_{k=1}^{\infty} c_k k(k+3) x^{k+\frac{3}{2}} - \frac{9}{4} \sum_{k=1}^{\infty} c_{k+1} x^{k+\frac{3}{2}} = 0$$

$$x^{3/2} \left(\sum_{k=1}^{\infty} [c_k k(k+3) - \frac{9}{4} c_{k+1}] x^k \right) = 0$$

$\Rightarrow c_k k(k+3) - \frac{9}{4} c_{k+1} = 0, k=1, 2, \dots$
 $c_k = \frac{9}{4} \frac{c_{k-1}}{k(k+3)}, k=1, 2, 3, \dots$

$c_1 = \frac{9}{4} \frac{c_0}{4} = \frac{9}{16} c_0$

$c_2 = \frac{9}{4} \frac{c_1}{10} = \frac{9^2}{4^2 \cdot 10} c_0$

$c_3 = \frac{9}{4} \frac{c_2}{48} = \frac{9^3}{4^3 \cdot 48} c_0$